FIEET EAGERH K OAGEIMA @R (FFocH 1 0 A 1 HEE)

& KEEH: Bl (A2 1)
AR () PEERHE (1mM72Y)
mEES Btk 48 1~50 ni 5lmi~
13mm 800
20mm 1, 000
25mm 2,000
30mm 4, 500
40mm 5,000 150 180
50mm 6, 500
75mm 8, 000
100mm 9, 500
150mm 10, 000
IKE R & EHE B

1) KiE 2 0 mfliflog4e (0£20mm)

PEREE 150 X KE20m  +  FEAKHE1, 000/ = Bifk4, 000
Bitk4, 000 X JHEFIZ10% = {H&EBI400M

Bitk4, 000  + HZFI400 = FiiA4, 40011

2) KiES5 2mfEHOEE (11£520mm)

TERBHE1501 X kB0 +  FEEBHE1801 X k2 +  HEAEIE1, 0001 = Biiks, 8601
Fitks, 8601 X {HEBIZEI0% = (HEFIS86M

Bitk8, 8601 + THEFI886H] = FiiA9, 7461

@ KIEIMA 4 (HAZ: )
mEEs Btk 48 Bl &4
13mm 15, 000 16, 500
20mm 25, 000 27,500
25mm 35, 000 38, 500
30mm 47, 000 51, 700
40mm 78, 000 85, 800
50mm 118, 000 129, 800
75mm 257, 000 282, 700
100mm 451, 000 496, 100
150mm 676, 000 743, 600




